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AIN:: 1.5
d=10-10 > =001
2
Ay, = % = 7854x 10"

E:= 206000-106 =2.06 x 1011

p = 7800
= F ~ 5139.001

p
kassiale = E‘Alsez = 1.079x 107
ki=3107
¥1(B) = tan(B) b

B :=0,0.01..12 FS:=10

SR

Rigidezza assiale della barra

=0.36 y2(B):=-b-p
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F4B) = tan(B) + b-

B:=2
B = roo(F(B),8) = 2.425

Bi=5

B = root(F(B),8) = 5.203
Bi=8

B3 = root(F(B),8) = 8.182

B=11

By = root(F(B),8) = 11.238




B =2425

B8, =5.203

B3 =8.182

By =11.238

rad/s

wp = %ﬂl — 8306.868
C

wy = 3y = 17826.764
C

w3 1= i3 = 28030912

wy = §~ﬁ4 — 38502.721

Hz
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Wy

— =1322.079
2.

w

—2 = 2837.218
2.

w3

— =4461.258
2.

w

—4 =6127.898
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